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$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 238 T 199.7 380 40
THI 8,291.0 100 30
JUFHLA 91.2 1,030 31
LSHLA 276.6 624 70
TFELSHLA 284.7 1,300 150
=EHLA 989.5 440 20
IALA 190.2 858 369
HSRFLA 38.2 39 20
<55 148.1 220 20
FARLY 2,590.6 2,277 119
IVAVTAFX 100.4 419 20
F7> 07 1,764.7 680 101
HFHS 29.7 100 30
TLINTN 44.6 290 20
ALY 36.0 5,963 409
HHAZEA 109.8 100 20
AXFHd 684.3 1,388 20
sH= 31.3 5,559 331
TYRSERF 58.7 400 100
>S54 hIF/ A 119.5 598 109
ZILAA T3 1,208.3 839 430
ZILAA 1278 455.0 6,950 2,540 [gn ” "

17,742.1




[f¥fa] (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
K 232 A 6,734.8 700 100
e e . 43C/S
A %6 215.0 5,000 819 Bl /s
7+47 3,557.6 849 36

WAERA ATtNE

28,249.5




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &

EEXRE 17€ | O HAN 35.4 50 20

ROARD 103.3 2,000 100

I hOSA 19.9 289 50

Y= 32.4 1,000 500
iEHE 152 ROARD 19.9 1,500 300
By 28 )\HA 800.0 580 370
hC 268 EXTVYRS 218.0 259 70

MR artE 1,228.9




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B /[E] B &
EEXRIE 1728 |5 X 440.2 2,300 1,500
kR 152 NSO 715.7 4,500 2,000
#}]D 2& E=5 X 24.0 2,300 700
hT 268 <A 2,185.8 1,900 900
mUiE 1€ E=5X 80.0 2,000 500
XXF 43.2 500 200
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3,488.9




